Coxbor -14 doting

wellowd L\L\o\oks . 1360 Chemistiry Noloel

%C N ¥ 3+ with T,,=57304ks
i;g =41.2: 16'2 ( C,uw\revdc,lxt )
Ro = 14 :eiaé ol Covloon
'L/T,% R -—'L/T,/Z
R=Rg 2 =>cy~-——- =010
R
_ Tuyz - Q—VLO( .
In 2.
L . _ ST20yrs. L. OO0 _ 293:'_\:\‘(5
In2

The sSawmple s ~ 9830 years old .



Atowmice  nuwloew

Nucleus : '9°p4 = A =106
From peviodic tolble: Pd :Z2=46
A=Z+N =>N=A-Z = 406 -46 =0
Thie nucleus has 60 neutvows.
Un - conitzed = neutval = Mg = Z
This atown Was 46 electvowns.



Nucleor vodius

V3
R =1, A Vo=4.2-1.25 fm

This questiont uses =125 fm,
/3

B . A=7:R=125 7 = 239 {m
() . A=234: R=1.2523% =+70im
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Alpha particle tuwwmelung (2)
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Bunding enevrqees

M(*H) = 1.007825 AaMU
M, 1.008665 AMU

1 AMU = 93| L4 06| MeV /c*
B8, ) =[ ZMEH)+ Now, M (8x,)] c©
AM : moss delect

25N 56Fe 24 Dy

A/Z/N |23/44/4192| 56/26/320 | 24t /a4 /150
M(aMuU) | 22.989770| 55,9244 2 | 24406k (A8
MM (AMU) [ 0.200285| 0.5284s8 | L AT71402
B(MeV) | 186.56% | 492.255 | 1826.070

2(Mev) | 844t | 810 | %525




Q-volue of olpho. decoy

235 234 __
Uz = o Thy, +*

/'\—og=;He_2
M("*He) = 4002603 AMU

M (2354) = 235.043923 AMU
M(PATh)= 224 026297 AMU

Q = [ M(stu) _ M(231—|-\,L) _ M(LrHe)] cZ
Q = 0005023 AMU :c*

Q@ = 4,68 MeV



Yeeld ol wuclear bomwmlas

1Lt = 1000k =4,000,000 kaq ol TNT
U&be\ds b2 - lO T ol ev\e,\r%\.&

Live of trucks:

M =24t |

Jo5l__oo! —Q\mi—-oo—l
(=1S.0m_ e =22.0wm
- Sl |

Fisston bomlo : MA =50.0kt
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L, = n, - (L+s) = 4613 -3 = 597 kum
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L, = v, (L+5) £2/,500Lw
The Equotor (s L©,000 lun lowca.



Maas o Lluel vods
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E = {85 MeV = 29610 J : evxev%xa

—4lcescon
c%e,vxe,\ro&_e_d \ou& one. dcescown.

P = 4IOMW : electric power
m=39% =039 : L\ne\rvmoc\\.&vxo.vwoc_

e%:ccevmc,xi ol the steomn tuloine

R = -;Z'— = {054 MW : totol power
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Moas o) Quel vods 2.
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WL = viL- M = 3739 -louvvuo\ . 0.238 m-"ﬂ;l—- =
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Wechdc ke dovrmulo

Nucleus :S8Fe: A=58,%=26, N=22
Volume enevyy:
oy A = 1+ MeV- 58 = I12 MeVv

Suvd o.ce, evierqy: (ZV\ e%atpve)
/3

Qg Q = 13MeV- 58 = 9% 8MeV

Coulomb evierqy : (negqative)

Q, - Z(ffs’i) - OT2MeV - 282> _\o0qMeV
58

Symm e,tv-\a ( V\ecao.l;we_)

a . N-Z _ i gmey. (22-26). 179 Mey
5 f 58

P&wm% (posuh.ve ble evew-even )
S= +A =23MeN-f = L5TMeV

All combined together:

812 - 1Ak 8 - 120.9 - 1179 + 1.57= &436.1MeV
From tolole : M (S8 Fe )= 579332280 aMU
AM= O0.54T7450AMU = 509,95 MeV




